lines on the remaining blank pages.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Time: 4 hrs. ) ‘Max. Marks:100

Note: 1. Answer anw; .
2. Draw neat di
3. Missing data may suttably be assumed.
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Ofull questions form PART A and ONE Questwn from PART B
ram wherever necessary ‘

PART - A

Define: i) Yield, ii) Trap efnclency iii) Density cun‘emts (03 Marks)
The construction cost for cértain possible heights of dam at a given site have been estimated
and are given in table, along. Wlth storage capamts/ t these heights. Determine the most
economical height of dam: % "

Height (m) 10 | “20“ 30 | 40 | 50 | 60 | 65

Construction cost (mllhon’Rs ) | 4903 12 | 18 | 27 | 39 | 50

Storage (mllhon Cum) e / e 2 SQI 10| 180 | 250 | 350 | 500 | 600

, e (05 Marks)
Explain briefly environmental effects of con‘struction of a reservoir. (07 Marks)
What are the modes of failure of gra\« 1ty dam. ;‘f‘)lain. (07 Marks)

Design the practical profile of a gravxty dam of stone masonry, given the following data :
RL of base of dam = ~1250.00m §
RL of FRL = 3980 00m
Height of wave /7= 51.5m
Safe compressive strengtﬁ / 1200kN/m’

Specific gravity
Sketch the profile. (08 Marks)
List the design crite or earth dams. (07 Marks)
ng the preliminary dimensions of an earth/ am (08 Marks)

Explain the steps

~ PART - B :

Design a surplus ‘weir with stepped apron of a tank with the following deta;ls :
Catchment arca = 20km’ ; )
Max1mum Water level = 124.000m
Full tanl\ Jevel = 123.000m
Ground level at weir site = 122.000m
Gl ‘below proposed weir upto a reach of 5Sm = 121.000m

//Tank bund level = 125.500m

_Top width of tank bund = 2.0m
~Side slopes of bund on either side = 2H:1V
Hard foundation available at 120.000m
Ryve’s coefficient = 9
Hydraulic gradient ' = 1:5

(25 Marks)
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Half plan at top and« alf plan at foundation.
Half elevation and hait sectional elevation.

Cross section across the Weir.

Design details of a canai.¢
Particulars N ;ﬁl’s:y\

Full supply discharge  16m’/s
Bed width 10m
Full supply level M
Top level of Bank
Canal bed level
Top width of bank
Canal side slopes

Bligh’s coefticient = 10

General GL at the site = 12.00m

2H:1V

Good soil for foundation is at 900{)

10m

égulator is as follows :

d/s
13m’/s

20f2

/10CV65

(20 Marks)
(15 Marks)
(10 Marks)

(25 Marks)

(20 Marks)
(15 Marks)
(10 Marks)



